



Uniqueness in the elastic bounce problem, II

Danilo Percivale

► To cite this version:

Danilo Percivale. Uniqueness in the elastic bounce problem, II. Journal of Differential Equations, 1985, 90 (2), pp.304-315. 10.1016/0022-0396(91)90150-8 . hal-01544491

HAL Id: hal-01544491

<https://hal.science/hal-01544491>

Submitted on 8 Jul 2017

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.



Distributed under a Creative Commons Attribution - ShareAlike 4.0 International License

Uniqueness in the Elastic Bounce Problem, II

DANILO PERCIVALE

*Department of Mathematics, SISSA-ISAS,
34014 Trieste, Strada Costiera 11, Italy*

INTRODUCTION

In a recent paper (see [6]) uniqueness for the elastic bounce problem has been studied in a very general framework. More precisely given $T > 0$ and $f \in C^3(\mathbb{R}^n; \mathbb{R})$, a pair $(x, U) \in \text{Lip}(0, T; \mathbb{R}^n) \times L^1(0, T; C^2(\mathbb{R}^n))$ is said to be a solution to the elastic bounce problem iff

$$(P) \left\{ \begin{array}{ll} \text{(i)} & f(x(t)) \geq 0 \text{ in } [0, T] \\ \text{(ii)} & \text{there exists a bounded measure } \mu \geq 0 \text{ on } [0, T] \text{ such that } x(t) \\ & \text{is an extremal for the functional} \\ & F(y) = \int_0^T \left\{ \frac{1}{2} |\dot{y}|^2 + U(t, y(t)) \right\} dt + \int_0^T f(y(t)) d\mu \\ & \text{and } \text{spt } \mu \subseteq \{t \in [0, T] : f(x(t)) = 0\}. \\ \text{(iii)} & \text{the function } \mathcal{E} : t \rightarrow |\dot{x}(t)|^2 \text{ is continuous on } [0, T]. \end{array} \right.$$

In [6, 7] it was pointed out that the Cauchy problem for (P) admits a unique solution when certain inequalities (involving the Gaussian curvature of $\partial\Omega$ and the normal component with respect to $\partial\Omega$ of U) is fulfilled (see [6, Thm. 2.2]).¹

When these conditions are violated, uniqueness for (P) may fail as it is shown in [7, 8], where an example of $f \in C^\infty(\mathbb{R}^2)$ is constructed in such a way that $\Omega = \{x : f(x) \geq 0\}$ is convex and, as soon as one takes $U = 0$, the solution of the Cauchy problem for (P) is not unique.

This example shows that—even in the absence of external forces and in two dimensions—boundaries having rapidly oscillating Gaussian curvature which vanishes at order infinity at some point may cause a loss of uniqueness.

¹ Here we set $\Omega = \{x : f(x) \geq 0\}$.

The aim of this paper is to show that if u is assumed to be real analytic and $U \equiv 0$ then these phenomena disappear and the solution to the elastic bounce problem is unique for every choice of the Cauchy data.

1. STATEMENT OF THE PROBLEM

Let $f: \mathbb{R}^n \rightarrow \mathbb{R}$ be a real analytic function such that $df(x) \neq 0$ on the set $\{x \in \mathbb{R}^n: f(x) = 0\}$. We want to study the elastic bounce problem for a material point whose position at time t will be indicated by $x(t)$. This point moves in the region $\Omega = \{x: f(x) \geq 0\}$ and bounces against the boundary $\partial\Omega = \{x: f(x) = 0\}$. We shall assume that no external force is acting on the point and therefore given $T > 0$ we say that $x \in \text{Lip}(0, T; \mathbb{R}^n)$ solves the elastic bounce problem (P) iff

$$\left\{ \begin{array}{ll} \text{(i)} & f(x(t)) \geq 0 \text{ for every } t \in [0, T] \\ \text{(ii)} & \text{there exists a finite positive measure } \mu \text{ on } [0, T] \text{ such that } x(t) \\ & \text{is an extremal for the functional} \\ & F(y) = \frac{1}{2} \int_0^T |\dot{y}|^2 dt + \int_0^T f(y(t)) d\mu \\ & \text{and } \text{spt } \mu \subseteq \{t \in [0, T]: f(x(t)) = 0\} \\ \text{(iii)} & \text{for every } t_1, t_2 \in [0, T] \text{ we have} \\ & |\dot{x}_+(t_1)|^2 = |\dot{x}_+(t_2)|^2, \end{array} \right.$$

where \dot{x}_+ and \dot{x}_- respectively denote the right and left derivatives of x since \dot{x} is a BV function (see [3, 4, 7]).

As we have seen in [3], a function $x \in \text{Lip}(0, T; \mathbb{R}^n)$ satisfies (i), (ii), and (iii) if and only if it satisfies (i), (iii), and the following equality

$$\ddot{x} = \mu \nabla f(x(t)) \quad (1)$$

holds true in the sense of distributions and $\text{spt } \mu \subseteq \{t \in [0, T]: f(x(t)) = 0\}$.

According to [3] we introduce the set $E = \{x \in \text{Lip}(0, T; \mathbb{R}^n): x \text{ solves (P)}\}$ and define the initial trace $\mathcal{T}: [0, T] \times E \rightarrow \mathbb{R}^{3n+2}$

$$\mathcal{T}(t, x) = (\tfrac{1}{2} |\dot{x}(t)|^2, x(t), \dot{x}_\tau(t), f(x(t)) \dot{x}(t), 0),$$

where $\dot{x}(t) = |\nabla f(x(t))|^2 \dot{x}(t) - \langle \dot{x}, \nabla f(x(t)) \rangle \nabla f(x(t))$. Now, fixed $t_0 \in [0, T]$ and $b \in \mathcal{T}(\{t_0\} \times E) = \mathcal{B}$, we set

$$G(t_0, b) = \{x \in \text{Lip}(0, T; \mathbb{R}^n): x \in E, \mathcal{T}(t_0, x) = b\}.$$

As we have seen in [6] this set is non void and moreover we can state the following result (see [6]):

PROPOSITION I. *Let $t_0 \in [0, T]$ and $b \in \mathcal{B}$ such that $f(b_2) = 0$ and $|b_3|^2 - 2b_1 |\nabla f(b_2)|^4 = 0$. Suppose that for every $x \in G(t_0, b)$ there exists δ such that in $(t_0, t_0 + \delta)$ the inequality*

$$\left(\dot{x}_i \frac{\partial}{\partial x_i} \right)_{x(t)}^2 f \geq 0$$

holds true. Then there exists $\sigma > 0$ such that the set

$$G(t_0, b) = \{x \in \text{Lip}(t_0, t_0 + \sigma) : x \in E, \mathcal{F}(t_0, x) = b\}$$

is a singleton.

The aim of this paper is to prove the following result:

THEOREM II. *If $f: \mathbb{R}^n \rightarrow \mathbb{R}$ is real analytic, then for each $t_0 \in [0, T]$ and for each $b \in \mathcal{B}$ the set $G(t_0, b)$ is a singleton.*

In order to prove Theorem II we remark that f may be put into the form $f(x) = h(x_1, x_2, \dots, x_{n-1}) - x_n$ is a suitable neighbourhood of $\bar{x} \in \partial\Omega$ with $\nabla h(\bar{x}_1, \dots, \bar{x}_{n-1}) = 0$. Now, fixing $t_0 \in [0, T]$, we may consider—without loss of generality—only those $b \in \mathcal{B}$ such that $f(b_2) = 0$ and $|b_3|^2 - 2|\nabla f(b_2)|^4 b_1 = 0 = |b_3|^2 - 2b_1$; the last equality implies that $\langle \dot{x}_\pm(t_0), \nabla f(x(t_0)) \rangle = 0$ and therefore, from now on, we assume that $f(b_2) = 0$, $\nabla h(b_2) = 0$, $b_3 = (1, 0, \dots, 0)$, $b_2 = (0, 0, \dots, 0)$.

Moreover we put $\hat{x} = (x_2, \dots, x_{n-1}) \in \mathbb{R}^{n-2}$, $\varphi(x) = \nabla_{x_1} f(x)$, $\tilde{x} = (x_1, \hat{x})$, $\nabla_{\tilde{x}} f(x) = \Psi(\tilde{x})$ so that problem (P) can be rewritten as follows:

$$(P') \left\{ \begin{array}{l} \text{(i)} \quad h(x_1(t), \hat{x}(t)) \geq x_n(t) \text{ for every } t \in [0, T]. \\ \text{(ii)} \quad \text{there exists a bounded measure } \mu \geq 0 \text{ on } [0, T] \text{ such that} \\ \quad \text{spt } \mu \subseteq \{t \in [0, T] : f(x(t)) = 0\} \text{ and} \\ \quad \quad \quad \begin{cases} \ddot{\tilde{x}}_1 = \mu \varphi \\ \ddot{\tilde{x}} = \mu \Psi \\ \ddot{\tilde{x}}_n = -\mu \end{cases} \\ \text{(iii)} \quad \text{for every } t_1, t_2 \in [0, T] \text{ we have} \\ \quad \quad \quad |\dot{x}_\pm(t_1)|^2 = |\dot{x}_\pm(t_2)|^2 = 1. \end{array} \right.$$

2. PROOF OF THEOREM (II)

Let $t_0 \in [0, T]$, $b \in \mathcal{B}$, $x \in G(t_0, b)$ and assume that t_0 and b satisfy the hypothesis stated in the previous section. Moreover—by virtue of [6, Thm. 2.2]—it is no restrictive to assume that

$$\sum_{i=1}^n \frac{\partial^2 f}{\partial x_i \partial x_j} (x(t_0)) \dot{x}_i(t_0) \dot{x}_j(t_0) = 0$$

and as in [6] (see also [3]) it is not difficult to check that the following energy-relation holds:

$$\begin{aligned} \left| \frac{d}{dt} f(x(t)) \right|^2 &= 2 \int_{t_0}^t \left[\sum_{i=1}^n \frac{\partial^2 f}{\partial x_i \partial x_j} (x(s)) \dot{x}_i(s) \dot{x}_j(s) \right] \frac{d}{ds} f(x(s)) ds \\ &= 2 \left[\sum_{i=1}^n \frac{\partial^2 f}{\partial x_j \partial x_i} (x(t)) \dot{x}_i(t) \dot{x}_j(t) \right] f(x(t)) \\ &\quad - 2 \int_{t_0}^t (\langle \dot{x}(s), \nabla \rangle^3 f(x(s)) (f(x(s)))) ds. \end{aligned} \quad (2)$$

We put $f(x) = h(x_1, \hat{x}) - x_n$; hence when $n = 2$, (2) becomes

$$\begin{aligned} \left| \frac{d}{dt} (h(x_1(t)) - x_2(t)) \right|^2 &= 2(h(x_1(t)) - x_2(t)) h''(x_1(t)) \dot{x}_1^2(t) \\ &\quad - 2 \int_{t_0}^t h'''(x_1(s)) \dot{x}_1^3(s) (h(x_1(s)) - x_2(s)) ds. \end{aligned} \quad (2')$$

Since h is real analytic we may assume that there exists an index $p > 2$ such that $h^p(x_1(t_0)) \neq 0$ unless $h''(x_1)$ is identically zero; in the latter case from (2') it follows $f(x(t)) \equiv 0$ in a neighbourhood of t_0 . If $h^p(x_1(t_0)) > 0$ then $h''(x_1(t)) \geq 0$ so that $f(x(t))$ is convex in a suitable $[t_0, t_0 + \delta)$ and therefore or $z(t) \equiv 0$ in $[t_0, t_0 + \delta)$ or $z(t) > 0$ in $(t_0, t_0 + \delta)$. In both cases from [6, Lemma (2.1)] we argue the thesis.²

We claim that even in the case $h^{(p)}(x(t_0)) < 0$ the function $z(t) = h(x_1(t)) - x_2(t)$ is identically zero in some neighbourhood of t_0 .

In fact we have (choosing $t_0 = 0$)

$$\begin{aligned} |\dot{z}(t)|^2 &= 2h''(x_1(t)) z(t) \dot{x}_1^2(t) - 2 \int_0^t h'''(x_1(s)) x_1(s) z(s) ds \\ &\leq C \left\{ t^{p-2} z(t) + t^{p-3} \int_0^t z(s) ds \right\} \end{aligned}$$

² Here $\langle \xi, \nabla \rangle^m(f)(x(t))$ denotes $\partial f / (\partial x_1^{\alpha_1} \dots \partial x_n^{\alpha_n}) \xi_1^{\alpha_1} \dots \xi_n^{\alpha_n} \sum \alpha_i = m$.

and then, by using Hölder inequality,

$$\begin{aligned} \int_0^t |\dot{z}(s)|^2 ds &\leq C \left\{ t^{p-2} \int_0^t z(s) ds + \int_0^t ds \int_0^s \tau^{p-3} z(\tau) d\tau \right\} \\ &\leq 2Ct^{p-1/2} \left(\int_0^t |\dot{z}(s)|^2 ds \right)^{1/2} \end{aligned}$$

which yields

$$\left(\int_0^t |\dot{z}(s)|^2 ds \right)^{1/2} \leq 2Ct^{(2p-1)/2} \quad (3)$$

and then $|z(t)| \leq 2Ct^p$.

Since \dot{x}_1 is decreasing and $\dot{x}_1(0) = 1$ we have $|\dot{x}_1| \leq 1$ and then for t small enough

$$\int_0^t |h'''(x_1)| \dot{x}_1^3 z(s) ds \leq (1 + \varepsilon_1(t)) \frac{|h^p(0)|}{(p-3)!} x_1^{p-3} \int_0^t z(s) ds \quad (4)$$

$$|h''(x_1)| \dot{x}_1^2 = \dot{x}_1^2 \frac{|h^p(0)|}{(p-2)!} x_1^{p-2} (1 + \varepsilon_2(t)), \quad (5)$$

where $\varepsilon_1(t)$ and $\varepsilon_2(t)$ goes to zero when $t \rightarrow 0$. From these two relations we obtain

$$|\dot{z}(t)|^2 \leq |h''(x_1)| \dot{x}_1^2 \left\{ -z(t) + (p-2) K(t) t^{-1} \int_0^t z(s) ds \right\},$$

where $K(t) = (1 + \varepsilon_1(t))(1 + \varepsilon_2(t))^{-1} t \dot{x}_1^{-2} x_1^{-1}$ goes to 1 as $t \rightarrow 0$ and therefore it is possible to choose δ in such a way that $K(t) < (p-1)(p-2)^{-1}$ for $0 < t < \delta$.

Now, the latter inequality yields (for $t \in (0, \delta)$)

$$|\dot{z}(t)|^2 \leq |h''(x_1)| \dot{x}_1^2 \left\{ -z(t) + (p-1) t^{-1} \int_0^t z(s) ds \right\};$$

moreover we have $|z(t)| \leq ct^p$ and

$$\frac{d}{dt} \left(t^{1-p} \int_0^t z(s) ds \right) = t^{-p} \left(tz(t) - (p-1) \int_0^t z(s) ds \right) \leq 0$$

so that $t \rightarrow t^{1-p} \int_0^t z(s) ds$ is decreasing and then $\int_0^t z(s) ds \leq 0$ but $z \geq 0$ and therefore $z(t) \equiv 0$ in $(0, \delta)$; from [6, Lemma 2.1] we easily complete the

proof of Theorem II in the case $n=2$. We deal now with the case $n>2$; to this aim it is useful to put $f(x)=h(x_1, 0)+\langle \hat{x}, \hat{g}(x) \rangle -x_n$ so that

$$\nabla_{x_1} f(x)=\varphi(\tilde{x})=h_{x_1}(x_1, 0)+\langle \hat{x}, \hat{g}_{x_1}(\tilde{x}) \rangle \quad (6)$$

and

$$\nabla_{\tilde{x}} f(x)=\Psi(\tilde{x})=\hat{g}(x_1, 0)+A(\tilde{x})\hat{x}, \quad (6')$$

where $A(x)$ is a suitable $(n-2) \times (n-2)$ matrix. Now we are able to state the following

LEMMA 1. *If $x \in G(t_0, b)$ then there exists $\sigma > 0$ such that*

$$|\dot{\hat{x}}(t)| \leq K |\hat{g}(x_1(t), 0)| |\dot{x}_n(t)| \quad (7)$$

for every $t \in [t_0, t_0 + \sigma)$.

Proof. From (6) and (6') we deduce

$$\ddot{\tilde{x}} = -(\hat{g}(x_1(t), 0) + A(x(t)) \hat{x}(t)) \ddot{x}_n \quad (8)$$

and then

$$\dot{\hat{x}} = -(\hat{g}(x_1(t), 0) + A(x(t)) \hat{x}(t)) \dot{x}_n + \int_{t_0}^t \lambda(s) ds, \quad (9)$$

where $\lambda(s) = [x_1(s) \hat{g}(x_1(s), 0) + (A(x(s)) \hat{x}(s))'] \dot{x}_n(s)$.

By using equality (9) we obtain

$$\begin{aligned} |\dot{\hat{x}}| &\leq |\hat{g}(x_1, 0)| |\dot{x}_n| + c_1 \int_{t_0}^t |\hat{x}(s)| ds \\ &\quad + \int_{t_0}^t \{ |\hat{g}(x_1, 0)| |\dot{x}_n| + c_2 |\hat{x}| + c_1 |\dot{\hat{x}}| \} ds, \end{aligned}$$

where we have used that $|A(x(t))| \leq c_1$ and $|\dot{A}(x(t))| \leq c_2$. From the previous inequality we argue

$$|\dot{\hat{x}}|^2 \leq c_3 |\hat{g}(x_1, 0)|^2 \dot{x}_n^2 + c_4 \int_{t_0}^t |\dot{\hat{x}}(s)|^2 ds$$

for every $t \in [t_0, T]$.

Since $t \mapsto |\hat{g}(x_1(t), 0)|^2 \dot{x}_n^2(t)$ is increasing in a suitable interval

$[t_0, t_0 + \sigma)$, we can apply Gronwall's Lemma to the latter inequality and we obtain

$$|\dot{x}(t)|^2 \leq e^{c_4 c_3} |\hat{g}(x_1(t), 0)|^2 \dot{x}_n^2$$

which is precisely (7).

The method consists now in proving that the sign of $\langle \dot{x}, \nabla \rangle^m(f)(x(t))$ depends only on the sign of $\partial_{x_1}^m h(x_1, 0)$ in a neighbourhood of t_0 . To this aim we consider first the case in which $\hat{g}(x_1, 0)$ goes to zero faster than $h_{x_1}(x_1, 0)$ as $t \rightarrow t_0$, which leads to

$$|\Psi| \text{ goes to zero faster than } \varphi \text{ as } t \rightarrow t_0.$$

In this case, by using Lemma 1, a direct computation shows that for every $k \geq 2$ and $t - t_0$ small enough

$$\langle \dot{x}, \nabla \rangle^k(f)(x(t)) = \dot{x}_1^k \partial_{x_1}^k h(x_1, 0) [1 + \sigma(t)]$$

holds true with $\sigma(t) \leq c |t - t_0|$.

By the previous equality, we may reduce ourselves to the two-dimensional case and, by using the same techniques, the proof of Theorem II can be easily achieved in this case.

In order to complete the proof, from now on we suppose that

$$|h_{x_1}(x_1, 0)| \leq C |\hat{g}(x_1, 0)|.$$

Again from Lemma 1 if $\hat{g}(x_1, 0) \equiv 0$ in some neighbourhood of $(x_1(t_0), 0)$, then $\hat{x}(t) \equiv 0$ in some neighbourhood of t_0 and we fall in the two-dimensional case; therefore $\hat{g}(x_1, 0)$ is assumed to be different from zero in some neighbourhood of $(x_1(t_0), 0)$.

LEMMA 2. *If $x \in G(t_0, b)$ then there exists $\delta > 0$ such that*

$$\langle \Psi(x(t)), \dot{x}(t) \rangle \geq 0 \quad (10)$$

$$\left\langle \frac{d}{dt} (\Psi(x(t))), \dot{x}(t) \right\rangle \geq 0 \quad (11)$$

for every $t \in [t_0, t_0 + \delta]$.

Proof. We prove only (11) since (10) can be proven in an analogous way. We have

$$\left\langle \frac{d}{dt} (\Psi(x(t))), \dot{x}(t) \right\rangle = \left\langle \hat{g}_{x_1}(x_1(t), 0), \int_{t_0}^t \hat{g}(x_1(s), 0) d\mu \right\rangle + \theta(t)$$

with $|\theta(t)| \leq \varepsilon(t) |\hat{g}(x_1(t), 0)| \int_{t_0}^t |\hat{g}(x_1(s), 0)| d\mu$ and $\varepsilon(t) \rightarrow 0$ as $t \rightarrow t_0$.

By the analyticity of \hat{g} we may suppose

$$\hat{g}_i(x_1, 0) = \alpha_i x_1^{m_i} + O(x_1^{m_i}) \quad (12)$$

and it is easy to check that, when $t \rightarrow t_0$, $\theta(t)$ goes to zero faster than

$$\left\langle \hat{g}_{x_1}(x_1(t), 0), \int_{t_0}^t \hat{g}(x_1(s), 0) d\mu \right\rangle.$$

This fact easily implies (11).

The crucial point of the proof is the following

LEMMA 3. *If $x \in G(t_0, b)$ then there exists $M > 0$ such that*

$$\dot{x}_n^2(t) \leq M \frac{\varphi^2(x(t))}{|\Psi(x(t))|^2} + 2 \int_{t_0}^t \left\langle \frac{d}{dt} \left(\frac{\varphi \Psi}{|\Psi|^2} \right), \dot{x}(s) \right\rangle ds \quad (13)$$

for every $t \in [0, T]$.

Proof. From (P') we obtain

$$\varphi(x(t)) \hat{x} = x_1 \Psi(x(t)) \quad (14)$$

and then

$$\varphi(x(t)) \langle \ddot{x} | \Psi \rangle = \ddot{x}_1 |\Psi|^2 \quad (15)$$

which implies

$$\dot{x}_1(t) = 1 + \left\langle \dot{x}(t), \frac{\Psi \varphi}{|\Psi|^2} \right\rangle - \int_{t_0}^t \left\langle \frac{d}{dt} \left(\frac{\varphi \Psi}{|\Psi|^2} \right), \dot{x}(s) \right\rangle ds.$$

Since $\dot{x}_1^2(t) + |\dot{x}(t)|^2 + \dot{x}_n^2(t) = 1$, setting $I(t) = \int_{t_0}^t \langle (d/dt)(\varphi \Psi / |\Psi|^2), \dot{x}(s) \rangle ds$, we obtain

$$\left\langle \dot{x} \frac{\varphi \Psi}{|\Psi|^2} \right\rangle + (1 - I(t))^2 + 2(1 - I(t)) \left\langle \dot{x} \frac{\Psi \varphi}{|\Psi|^2} \right\rangle + |\dot{x}|^2 + \dot{x}_n^2 = 1. \quad (16)$$

By a standard argument from (16) we obtain

$$\frac{\varphi^2}{|\Psi|^2} \frac{(1 - I(t))^2}{(1 + \varphi^2/|\Psi|^2)} - (1 - I(t))^2 - \dot{x}_n^2 + 1 \geq 0$$

which easily yields (13).

We recall now that, since $b_2 = (0, \dots, 0)$ and $b_1 = (1, 0, \dots, 0)$, to say $(\langle \dot{x}(t_0), \nabla \rangle^2 f)(x(t_0)) = 0$ is equivalent to saying that $h_{x_1 x_1}(0, 0) = 0$ and

therefore there exists an index $p > 2$ such that $(\partial^p h / \partial x_1^p)(0, 0) \neq 0$ unless $h_{x_1} x_1(x_1, 0) \equiv 0$ in some neighbourhood of $(0, 0)$; in the latter case we agree to put $p = \infty$.

First we assume $p < \infty$, $(\partial^p f / \partial x_1^p)(0, 0) < 0$ and as in (13) we set

$$\hat{g}_i(x_1, 0) = \alpha_i x_1^{m_i} + O(x_1^{m_i})$$

and $m = \min\{m_i; i = 2, \dots, n-1\}$; we now prove the following.

LEMMA 4. *Let $x \in G(t_0, b)$; then there exists $\tau > 0$ such that*

$$\dot{x}_n^2(t) \leq \tilde{K} x_1(t)^{2(p-1-m)} \quad (17)$$

for every $t \in [t_0, t_0 + \tau]$ and for a suitable constant $\tilde{K} > 0$.

Proof. Let $p \leq 2m+1$; from Lemma 3 we have

$$\begin{aligned} \dot{x}_n^2(t) \leq & M \frac{\varphi^2}{|\Psi|^2} + 2 \int_{t_0}^t \frac{1}{|\psi|^4} \{ \langle \Psi, \ddot{x} \rangle (\phi |\Psi|^2 \\ & - 2\phi \langle \Psi, \dot{\Psi} \rangle) + \langle \dot{\Psi}, \dot{x} \rangle |\Psi|^2 \} ds \end{aligned}$$

and from (6), (6'), and Lemma 1 we argue

$$\dot{x}_n^2(t) \leq L(x_1(t))^{2(p-1-m)} + x_1(t)^{(p-1)}\omega(t),$$

where $\omega(t)$ goes to zero as $t \rightarrow t_0$ and having taken $p \leq 2m+1$ the inequality (17) holds true in a suitable interval $[t_0, t_0 + \tau]$. If $p > 2m+1$, setting $|\hat{g}(x_1, 0)|^2 = \alpha^2 x_1^{2m} + O(x_1^{2m})$ and $h(x_1, 0) = \beta x_1^p + O(x_1^p)$ we obtain

$$\begin{aligned} & [\phi |\Psi|^2 - 2\phi \langle \Psi, \dot{\Psi} \rangle] \langle \Psi, \dot{x} \rangle + \phi |\Psi|^2 \langle \dot{\Psi}, \dot{x} \rangle \\ & = \dot{x}_1^2 \{ \alpha^2 \beta p(p-1-2(m-1)) x_1^{2m-2+p} + O(x_1^{2m-2+p}) \} \langle \Psi, \dot{x} \rangle \\ & \quad + \alpha^2 \beta p(x_1^{2m+p-2} + O(x_1^{2m-2})) \langle \dot{\Psi}, \dot{x} \rangle. \end{aligned}$$

Since we have assumed $\beta < 0$ from Lemma 2 we argue the sum on the second member is negative and this fact yields

$$\dot{x}_n^2(t) \leq M \frac{\varphi^2}{|\Psi|^2}$$

for all t sufficiently close to t_0 and so (17) is completely proved.

From the previous lemmas we easily obtain the following.

PROPOSITION 5. For every $k \geq 2$ we have

$$(\langle \dot{x}(t), \nabla \rangle^k)(f)(x(t)) = \frac{\partial^k h}{\partial x_1^k}(x_1(t), 0)(1 + \varepsilon(t))$$

for all t sufficiently close to t_0 and with $\varepsilon(t) \rightarrow 0$ as $t \rightarrow t_0$.

Now by using the same techniques of the case $n = 2$ we easily achieve the proof of the following.

PROPOSITION 6. Let $x \in G(t_0, b)$ and assume that $(\partial^p h / \partial x_1^p)(0, 0) < 0$; then the function $z(t) = h(x_1(t), \hat{x}(t)) - x_n(t)$ is identically zero in a suitable interval $[t_0, t_0 + \gamma]$.

Combining Proposition 6 with [6, Lemma 2.1] we prove local uniqueness in this first case.

Assume now that $(\partial^p h / \partial x_1^p)(0, 0) > 0$ and $2m + 1 < p < \infty$. From the first part of the proof of Lemma 4 we argue

$$\dot{x}_n^2(t) \leq \tilde{L}x_1(t)^{p-1} \quad (18)$$

when $t - t_0$ is small enough; on the other hand it is easy to verify (as in Lemma 2) that

$$\langle \nabla_{\hat{x}} \varphi, \hat{x}(t) \rangle \geq 0 \quad (19)$$

and then

$$\begin{aligned} & (\langle \dot{x}(t), \nabla \rangle^2)(f)(x(t)) \\ &= h_{x_1 x_1}(x_1, 0) \dot{x}_1^2 + \langle \hat{x}, \hat{g}_{x_1 x_1} \rangle \dot{x}_1^2 + 2 \langle \nabla_{\hat{x}} \varphi, \hat{x} \rangle \dot{x}_1 + h_{\hat{x}_i \hat{x}_j} \dot{x}_i \dot{x}_j. \end{aligned}$$

Again we can prove that $\langle \hat{x}, \hat{g}_{x_1 x_1}(x_1, 0) \rangle \geq 0$ for $t - t_0$ small enough and by using (18), (19) from the latter equality we obtain

$$(\langle \dot{x}(t), \nabla \rangle^2)(f)(x(t)) \geq 0$$

for all t such that $t - t_0$ is sufficiently small.

When $p \leq 2m + 1$ we may proceed as in the first part of Lemma 4 (which does not depend on the sign of $(\partial^p h / \partial x_1^p)(0, 0)$) and we obtain

$$\dot{x}_n^2(t) \leq Kx_1(t)^{2(p-1-m)} \quad (20)$$

as $t \rightarrow t_0$. By using (20) we obtain for $t - t_0$ small enough

$$(\langle \dot{x}(t), \nabla \rangle^2)(f)(x(t)) = h_{x_1 x_1}(x_1, 0) \dot{x}_1^2(1 + v(t)),$$

where $v(t) \rightarrow 0$ as $t \rightarrow t_0$.

We have only to consider the case $p = \infty$, i.e., $h(x_1, 0) \equiv 0$; from (6) and (6') we obtain $\varphi(x) = \langle \hat{x}, \hat{g}_{x_1}(x) \rangle$ and so Lemma 1 and Lemma 3 yield

$$\begin{aligned}\dot{x}_n^2(t) &\leq M \frac{\varphi^2}{|\Psi|^2} + C \int_{t_0}^t |\hat{x}(s)|^2 ds \\ &\leq M \frac{\varphi^2}{|\Psi|^2} + C \int_{t_0}^t |\hat{g}(x_1(s), 0)|^2 \dot{x}_n^2(s) ds\end{aligned}$$

when $t - t_0$ is small enough. But for the same t we have

$$\begin{aligned}|\varphi(x(t))| &\leq c_1 |\hat{x}|^2 |\hat{g}_{x_1}(x_1, 0)|^2 \\ &\leq \sigma(t) |\hat{g}(x_1, 0)|^2 |\hat{g}_{x_1}(x_1, 0)|^2 \dot{x}_n^2(t),\end{aligned}$$

where $\sigma(t) \rightarrow 0$ as $t \rightarrow t_0$. Since $|\Psi(x_1(t), 0)|^2 \geq m |\hat{g}(x_1(t), 0)|^2$ we obtain

$$\dot{x}_n^2(t) \leq k \int_{t_0}^t |\hat{g}(x_1(s), 0)|^2 \dot{x}_n^2(s) ds$$

and so $\dot{x}_n(t) \equiv 0$ in a suitable interval $[t_0, t_0 + \eta]$.

Therefore, by virtue of Lemma 1, we obtain $\ddot{x}(t) \equiv 0$ in the same interval and the equality

$$(\langle \dot{x}(t), \nabla \rangle^2)(f)(x(t)) = 0$$

holds true in $[t_0, t_0 + \eta]$.

We have proved that when $(\partial^p h / \partial x_1^p)(0, 0) > 0$ or $f(x_1, 0) \equiv 0$ then

$$(\langle \dot{x}(t), \nabla \rangle^2)(f)(x(t)) \geq 0$$

holds true in a suitable interval $[t_0, t_0 + \bar{\eta}]$; this fact, by applying Proposition I completes the proof of local uniqueness and so Theorem II is completely proven. ■

REFERENCES

1. G. BUTTAZZO AND D. PERCIVALE, Sull' approssimazione del problema del rimbalzo unidimensionale, *Ricerche Mat.* **30** (1981).
2. G. BUTTAZZO AND D. PERCIVALE, The bounce problem on n -dimensional Riemannian manifolds, *Atti Accad. Naz. Lincei Rend. Cl. Sci. Fis. Mat. Natur.* (8) **70** (1981), 246–250.
3. G. BUTTAZZO AND D. PERCIVALE, On the approximation of the elastic bounce problem on Riemannian manifolds, *J. Differential Equations* **47** (1983), 227–245.
4. M. CARRIERO AND E. PASCALI, Il problema del rimbalzo unidimensionale, *Rend. Mat.* **13** (1980), 541–553.

5. C. CITRINI, Controesempi all'unicità del moto di una corda in presenza di una parete, *Atti Accad. Naz. Lincei Rend. Cl. Sci. Fis. Mat. Natur. (8)* **67** (1979), 179–185.
6. D. PERCIVALE, Uniqueness in the elastic bounce problem, *J. Differential Equations*, to appear.
7. M. SCHATZMAN, Problèmes unilatéraux d'évolution du 2ème ordre, *Nonlinear Anal. Theory Methods and Appl.* **2** (1978), 355–373.
8. M. TAYLOR, Grazing rays and reflection of singularities of solutions to wave equations, *Comm. Pure Appl. Math.* **29** (1976), 463–481.